4.1: Simplitying Rational
Expressions
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To Simplify a rational expression [ Wzo
1he numerator and denominator. m%
'Divide out the common factors
ey

3) Simplify & State any excluded value
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*NOTE! Consider the following; which one is | The same is true when you are simplifying
correctly simplified? rational expressions with polynomials. You
CAN NOT cancel any of the terms out unless
Eey are connected with a multiplication!T
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and state any excluded
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2) What information
is given?

3) What do | already
know that | can use?

4) Does my answer
make sense?
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J. You are choosing between two wastebaskets. One is cylindrical with
a height of (2a + 8) and a radius of a. The otheroneisa
rectangular prism with a square base area of 4a? and a height of h.
If both wastebaskets have thejsame vo ume; what is the height of

W? Give your height in terms of a.
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=21 K. Asquare has side length 6x + 2. A rectangle with width 3x + 1 has
# theg &8 as the square. What is the length of the rectangle?
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